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T 3397 :

HET1TIEGT H39T 1 S TIaeH] & 91T 3R 377 G&d] & 9ic Hilag
() 3T 37-97 4 38 397 & | @4 37 sifdard & |

(ii) I8 ¥o7-97 gl @S] 4 [a9ifoa & — &, @&, M, 909 & /

(i) @UE & H Y97 &I 18 18 % aglasedid (MCQ) @7 J97 G&IT 19 TF 20
STHYT U deb STIIRT 1 3% & J97 8 |

(iv) @U@ T ¥97 G&I121 G 25 TF 3717 TY-FHIT (VSA) JHR 3 2 371 & J97 8 |

(v) TUE T H F¥7 G&I7 26 T 31 % TY-FTH1T (SA) JHR & 3 371 & J97 3 |
(vi) TUETH J97 &I 32 T 35 % -3 (LA) IHR & 5 371 & 97 5 /

(vii) WUE &F H Y97 G&IT 36 T 38 TF JHU eqIT STEINT 4 3F] & Y97 & | Jod%
JHTT 37T H JTARF [dHcT 2 3] & Jo7 7 1397 737 8 |

(viii) Y97-99 # GHT faeheq 757 197 791 & | FEf, @8 @ 3 2 Y991 H, GUS T & 2 FoI
4, @8 g &2 Yo 7 a9 @8 & & 3 Y991 B aR® ladhcq &1 Jraer 1731 77

g/

(ix) & STTvIH &1 T Il G4I5T | gl avqH & 1 = 22 i, Il s=rer

7
7 faa7 717 81 |
(x)  Dopaie & ITIT a8 |
WQUg &
39 @I H Fglasheqid F97 (MCQ) &, 57 Jc3e J97 1 37 %7 & | 20x1=20

1. fouma sl x2 - 25 = 01/% 1 &/
A 5 (B) -5,5
C) 25 (D) -25,25

2. IfC2800= 2Xx5Yx 7%, d@l (x+y) S AF & :
(A) 5 B) 4
C) 8 D) 6
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 } :
Draw neat diagrams wherever required. Take 1 = - wherever required, if not
stated.

Use of calculator is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each. 20x1=20

The root(s) of the quadratic equation x2 — 25 = 0 is/are :
(A) 5 B) -5,5
(C) 25 (D) —-25,25

If 2800 = 2X x 5Y x 7, then the value of (x +y) is :
(A 5 B 4
) 8 (D) 6

14-430/4/2 P.T.O.
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3. &S aefa A, A A ABC ~A QPR 2, dl x 1 AH 2 :

(A) 53cm (B) 46 cm

(C) 23cm (D) 4cm

4. @ TE AWM H, g O I Th g W a1 g P& T Toxi-i@1 PAS 2 |
Ifle L AOP=70°%, @ ~ APO S H¥ 7 :

(A 70° (B) 90°

C) 110° (D) 20°

5.  Teuma sgugl, o s -1 3R 3 &, 6 @ew 7

@ 1 (B) 2
€ 3 (D) 3% e

6. I I T Al AR Al H H FRET Tk ok o= 1 Th & healdl g
(A) Tk TN (B) U reorgs

(C) UH JEs (D) Th e
14-430/4/2
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3. In the given figure, if A ABC ~ A QPR, then the value of x is :

(A) 53cm (B) 46 cm
(C) 23cm (D) 4cm
4, In the given figure, PA is a tangent from an external point P to a circle

with centre O. If £ AOP = 70°, then the measure of ~ APO is :

(A) 70° (B) 90°
(C) 110° (D)  20°
5. The number of quadratic polynomials having zeroes —1 and 3 is:
A 1 B 2
<) 3 (D) more than 3
6. The region between a chord and either of the two arcs of a circle is called :
(A) anarc (B)  asector
(C) asegment (D) a semicircle

14-430/4/2 P.T.O.
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7.  Torelt ga 1 TaeiE 9% W@ Bt @ S g9 i R S B

(A) A Th &l fag W (B) T fogai @
(C) M fargati @ (D) 3Hd foirgatt W
8. famfaga 9ea s %t & 50 gfien! i eHes 3 <9ian 2 -

I (T H) 400 — 424 | 425 — 449 | 450 — 474 | 475 — 499 | 500 — 524
gfent <hl g 12 14 8 6 10

g o shl et € e

(A) 425 (B) 449

(C) 4245 (D) 4255

9. Wﬁwww,ﬁ 323—319=32%,%:

A 8 B -8
Cc) -4 D) 4

10. r TS % T g |, i o (feift ®) act Bsaes 1 8w &

A 2 wom B) 2 2
180 180

(©) i X 2mr (D) i X 2mrl
360 720

11.  fogall A4, x) 3R B(-2, 4) ® &M o @1 @e AB & #ea-fog Afg
C(1,-D®, @ x 1 74 @ :

(A 5 B) -5
(C) 6 D) -6
12. ( lzj—( lzjw%:
cot® 0 cos” 0
A 1 B -1
C) 0 (D) sec?6

14-430/4/2



10.

11.

12.

ELE

[t
A tangent to a circle is a line that touches the circle at :
(A)  one point only (B)  two points

(C) three points (D)  infinite number of points

The following distribution gives the daily income of 50 workers of a
factory :

Income (in 3) 400 — 424 | 425 — 449 | 450 — 474 | 475 —499| 500 — 524

Number of workers 12 14 8 6 10

The lower limit of the modal class is :
(A) 425 (B) 449
(C) 4245 (D) 4255

The common difference of an A.P., if agq— a9 =32, is:

A 8 B -8
Cc) -4 D) 4

Area of a sector of angle 0 (in degrees) of a circle with radius r is :

(A) 9 X 2nr (B) 9 X T2
180 180

(®) i X 2mr (D) i X 2mr2
360 720

If C(1, —1) is the mid-point of the line segment AB joining points A(4, x)
and B(- 2, 4), then value of x is :

(A) 5 B) -5
CC) 6 D) -6

1 1 )
(cotz 9) — (cosz 9) is equal to :
A 1 B -1
<) o (D) sec20

14-430/4/2 P.T.O.
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afe Tk e B TR p B, A 39 e B e HAT hi UTRIehal o1 § ?

13.
(A) 1-p B) p-1
© p o
p
14, x-FHH fog (4,5)HI gl 7 :
(A) 5 B) 4
<) 9 D) 1
15. Tfafad § § sH-a1 fgama gt 7g7 8 2
A (x-272+1=2x-3
(B) 2x-1)x-3)=xx+5H)x-1)
C) x(x+1)+8=x+2)x®-2)
D) 2x+3 =5
X
16. e fgumd 5898 kxZ+4x+k 1 Uh 6 18, A kHI AF @
A 2 B -2
C) 4 D) -4
17. Tafafaa IEmar s =1 megs 91 2
col 0-10[10-20|20—-30|30—40|40—-50|50—60
IRERAT | 5 8 20 15 7 5
(A)  10-20 (B) 20-30
(C) 30-40 (D) 40 -50
18. 9m > fooell % @H &l FHH W 343 m T AT | 39 997 W G H
?F?l?lTS[%
(A) 60° (B) 90°
(C) 45° (D) 30°
14-430/4/2
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13. If the probability of an event is ‘p’, what is the probability of its
complementary event ?
(A) 1-p B) p-1
1
C) p D) =
p
14. The distance of the point (4, 5) from x-axis is :
A 5 B) 4
()] (D) 1
15. Which of the following is not a quadratic equation ?
A) (x-22+1=2x-3
B) 2x-1)xx-3)=x+5)x-1)
C) xx+1)+8=x+2)x%-2)
D) 2x+ 3 =5
X
16. If one zero of a quadratic polynomial kx2 + 4x + k is 1, then the value of
kis:
A) 2 B) -2
) 4 D) -4
17. The median group in the following frequency distribution is :
Class 0-10 | 10-20|20-30 | 30—-40 | 40-50 | 50-60
Frequency 5 8 20 15 7 5
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-50
18. A lamp post 9 m high casts a shadow 3v3 m long on the ground. The
Sun’s elevation at this moment is :
(A) 60° (B) 90°
(C) 45° (D) 30°
14-430/4/2
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J97 G&IT 19 37K 20 HYFHIT U9 a& SEIRT 97 & | @ H97 10 78 & 574 vk &)
STYFHIT (A) T TR B 7% (R) GRT 377 1971 797 & | 37 F97] & T&7 I 19 157
77 F181 (A), (B), (C) 3% (D) & & g7 |
(A)  SAMTFHAT (A) 3T o (R) gHT T& & R o (R), AWHhIT (A) T T
ST T § |
(B) AMHIA (A) 3R Tk (R) THT Hal 8, T T (R), AMHRAT (A) 1 Fal
AT 7T il 3 |
(C) AMHeH (A) T& 8, Wrg e (R) TeId 8 |
(D) 317 (A) A B, T ok (R) T 7 |

19. 3YFYT(A): TH UTHT Behd T, TEAT 8 YT & hl TR I (0) B |

T (R) : Teh TEYT HeAT hl JTRIehdl I (0) Bl 7 |
20. BT (A): INah AR JH 5x + 2y + 6 =03 7x + 6y + 18 =0
T ®9 T 3 &A § |
% (R) : g Gl I a;x + byy + ¢ = 0 3 agx + byy + co = 0
¥ TR w9 § o7 g o, afy AL_bi_a g
ag b2 Co
Qs @
37 GUE T 37fa TG-IRI (VSA) FHR & J97 &, o8 I3 & 2 37 5 | 5x2=10

21. (a) @ TS MH A, PQ || RS R | firg FfE f OP x OR = 0Q x OS.

HAAAT

14-430/4/2 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting number 8 on rolling a die is
zero (0).

Reason (R): The probability of an impossible event is zero (0).

20. Assertion (A) : The pair of linear equations 5x +2y+6 =0 and
7x + 6y + 18 = 0 have infinitely many solutions.

Reason (R):  The pair of linear equations a;x+b;y+c;=0 and
a9X + byy + €9 = 0 have infinitely many solutions, if
2 _by_¢
ag by cg

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. (a) In the given figure, PQ || RS. Prove that OP x OR = 0Q x OS.

OR

14-430/4/2 Page 11 P.T.O.
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23.

24.

25.
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(b) < TS SHfT H, LM || CB 3R LN || CD? | fag Sifse f 22
B
M
L
2 §
N
D
T 3T T

sin 30° cos 60° + cos 30° sin 60° — cot 45°

TS UGS a9 g/, 45, 54, 270 T HCF 1A hifaT, |

AM AB
AN AD’

frell 90 o =A@ AB % & W 1 TRI@N XY 3R PQ @i T 7 | g

sife 6 XY || PQ ® |
(a) IR 9EUE 8x2 + 1dx + 3 % YA o, B &, A [l+%j H T T
HIT |
AAAT
(b) T fgaTd ague 1A hiC oTEeh IEh —9 3R 6 2 |

Que

39 GUE § TY-FHIT (SA) FHR & F97 &, 578 Jcdeh & 3 3F & |

26.

27.

forg shifor &6

(cosec A — cot A)2 = w

1+cos A

6x3=18

Sira hIfT foh 9o ToRell WTohd @& n o 07T, T@&A1 40 37 0 W FHTA &

Hohdl & | 3794 I & ToIU shRur T |

14-430/4/2 Page 12
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(b)  In the given figure, LM || CB and LN || CD. Prove that AM _AB
AN AD
B
M
L
2 C
N
D

22, Evaluate:
sin 30° cos 60° + cos 30° sin 60° — cot 45°

23. Find the HCF of 45, 54, 270 using prime factorization method.
24, XY and PQ are two tangents drawn at the end points of the diameter AB
of a circle. Prove that XY || PQ.

25. (a) If a, B are zeroes of the polynomial 8x2 + 14x + 3, then find the
1 1
value of (— -+ EJ .

(0

OR

(b)  Find a quadratic polynomial whose zeroes are —9 and 6.

SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18
26. Prove that :
(cosec A — cot A)2 = 1-cosA
1+cos A

27. Check whether the number 4™ can end with digit 0 for any natural
number n. Give reasons for your answer.

14-430/4/2 Page 13 P.T.O.



28.

29.

30.

31.

o

e
qre o 52 Ul i ITTB! WG ° el g Teh TGS § Th Il ATGoDdT {Hehrell
ST & | TTRrehdl ST shifete, foh TehTett TRIT o=l

(i) T T I AEIE 2

(i) BTl T 1 T T 7 |

(iii) 9 T 3FH @ |

10 cm T390 9160 W 99 H I G JA o ohg T Tk GHKIU AN
A 7 | @ (1) 7Y BeuEs (i) 6 Boues % gEwa 9| hiNe |
(n = 8-14 %1 T hifw)

(a)  TgoTet = 1 SN Sieh, THIHWT 2x2 + 2x + 9 = 0 < ARATID oA, AQ
3ehT 3AfEdca B, T T |

AT

(b) K% 9 WH Fd T [k Tog fgard afleon kx2 — 2kx + 6 = 0
qrEdfaeh 3R §9H 09 & | I8 g o F1d HIT |

(a) Tag IV fh g9 o 9T o9 IqHS % JAWA-HEA I ¢ g9

g U HYLh hIVT AN Pt & |

HAYAT

(b) e Tk g9 H FHg O, a1 PQ MM P W it T weik@r PR, Shar
PQ ¥ 40° T IV ST &, A1 ~ POQ <hT HTY JTd hilolT |

14-430/4/2 Page 14
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31.
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One card is drawn at random from a well-shuffled deck of 52 playing
cards. Find the probability that the card drawn is :

i) a red king.
(i1) not a black card.

(111) an ace of hearts.

A chord of a circle of radius 10 cm subtends a right angle at the centre of
the circle. Find the area of the corresponding (i) minor sector (ii) major
sector. (Use n = 3-14)

(a) Using quadratic formula, find the real roots of the equation
2x2 + 2x + 9 = 0, if they exist.

OR

(b) Find the values of ‘kK* for which the quadratic equation
kx? — 2kx + 6 = 0 has real and equal roots. Also, find the roots.

(a)  Prove that opposite sides of a quadrilateral circumscribing a circle

subtends supplementary angles at the centre of the circle.

OR

(b)  If O is the centre of a circle, PQ is a chord and the tangent PR at P
makes an angle of 40° with PQ, then find the measure of Z POQ.



59 @ 4 FH-3RIT (LA) IPR & 97 8, 579 Je3% &5 31FH & |

o

Ry
Qs v

32. 9 T fog PH, T 15 m H= I o RIS I 37 HI0T 30° 7 | 94
SRt W e a9 1 BT 1§ AW P U eANicg o G W IAIT R0 45°

g | EISIGS 1 TaTs AN foeg P9 wad shl gt 371 i |
(V3 = 1-732 &1 JANT HifSw)

33. U GHIE ] 1 GHU UG 29 3TN EHT A1 UG 517 | TG 9T 3H[aH U5 425
7, O 1a ShifVe fop 39 G0t 9 § $t fohad 9 8 3T 37 aff ugi 1 Jhad
g |

34. (a)

(b)
35. (a)

(b)
14-430/4/2

T oA, TS0 8 T T A 125 cm3 B, & G belohl ol [Tt
@1 ST g | I 9114 oh1 TR SR IS &%hal 1d ehig |

AT

Teh 3 Teh AYTel W ALIRIT Teh WP b AR hl & FE@H GHI
SH 7 cm o SR 7 3R I I Sa18 39! B o TR 3 | 3
HFAH AT T |

Ife BD 3R QM sus: 35S ABC 3R PQR & mifesestd ¥, &t

AB BD
A ABC ~ A PQR %, qa fag hifse fo PQ oM’

AT
CD 3R GH %": £ ACB 3R £ EGF % UH HuigWsi 8 feh fag D
3T H A A ABC 3R A FEG <1 3o13Ti AB @91 FE W feoa g | =fe
A ABC ~ AFEG g, dI g3risq &6 :
€D _AC
GH FG
(ii) ADCB~ AHGE

Page 16
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SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4x5=20

32. From a point P on the ground, the angle of elevation of the top of a 15 m
tall building is 30°. A flag is hoisted at the top of the building and the
angle of elevation of the top of the flagstaff from P is 45°. Find the length
of the flagstaff and the distance of the building from the point P.
(Use /3 =1-732)

33. The second term of an A.P. is 29 and the fourth term is 51. If the last
term of the A.P. is 425, find how many terms are there and what is their

sum.

34. (a)

(b)

35. (a)

(b)

14-430/4/2

Two cubes each of volume 125 cm? are joined end to end. Find the

volume and the surface area of the resulting cuboid.

OR

A solid is in the shape of a cone surmounted on a hemisphere with
both their diameters being equal to 7 cm and the height of the cone

is equal to its radius. Find the volume of the solid.

If BD and QM are medians of triangles ABC and PQR,

respectively, where A ABC ~ A PQR, prove that AB _BD

PQ QM

OR

CD and GH are respectively the bisectors of © ACB and £ EGF
such that D and H lie on sides AB and FE of A ABC and A FEG
respectively. If A ABC ~ A FEG, show that :

CD AC

O GH Fq

(i1) A DCB ~ A HGE

Page 17 P.T.O.
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Qe &

59 GUS § 3 YU S7eTTT TR 97 & 578 Jedab & 4 375 & | Sxd=12
RO AT - 1
36. Tl # TomIE AT & ATATE HeAor @9 (RWA) A TIE1E o hidd qreh §
I fooieft & @9 A, B3R C @MT B | 39 <9 @HI o 916G, TTh o 36 68
I off 3fER 4 ¥ | 397, RWA 7 9T | Ueh 3R foroiefl &1 @HT D @A i
% T | Uk ol e @ 8 fesne yumell &% &9 ° d9r foRan S Eehan
7|

7+ 0.
e T
> X
14-430/4/2 Page 18
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SECTION E

This section comprises 3 case study based questions of 4 marks each. 3Ix4=12

Case Study -1

36. Resident Welfare Association (RWA) of Gulmohar Society in Delhi, have
installed three electric poles A, B and C in the society’s common park.
Despite these three poles, some parts of the park are still in the dark. So,
RWA decides to have one more electric pole D in the park. The park can
be modelled as a coordinate system given below.

14-430/4/2 Page 19 P.T.O.
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i) @Y CH T R®T7 2 1
(i) 9 % M O ¥ @W Bl gt fohal B 2 1
(i) (a) =Y @H D H TIF [T HioQ a8 =1 o5 A, B, C 3fR D TH
FHTR Iq4s ABCD &9T¢ | 2
AT
(b) @H AR C " il gl [ HT | 2

ThIUT STETT — 2
37. feuTeht 7 Tt 1 TEdeh hi ghH H 3 TR 3 2 U4 T 80 H Wlig 3TN 36
it gafer 3 4 Tegs 3 3% T 110 § @il |

3TYh TTHSRI o MR W, f=faRaa gt & 3w i
(i) AR TH TegH HI YT T X MM TH W H 4A T y B, qf < mE Hafq

! SemuE €9 # fafa |
(i) (a) T AICHD Dl oI R & ? 2
3rera
(b) T U oI U AT 8 ? 2
(iii) §I® A 6 AT AR 3 U7 Gl &, A 39 P foha-l TR @ BT
Tt ? 1

14-430/4/2 Page 20
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On the basis of the above information, answer the following questions :

i) What is the position of the pole C ? 1
(i1)  What is the distance of the pole B from the corner O of the park ? 1
(iii)) (a) Find the position of the fourth pole D so that the four points

A, B, C and D form a parallelogram ABCD. 2
OR
(b)  Find the distance between poles A and C. 2

Case Study - 2

37. Deepankar bought 3 notebooks and 2 pens for ¥ 80 and his friend
Suryansh bought 4 notebooks and 3 pens for ¥ 110 from the school

bookshop.

Based on the above information, answer the following questions.

(1) If the price of one notebook be ¥ x and the price of one pen be ¥ y,

write the given situation algebraically. 1

(i1)) (a) What is the price of one notebook ? 2
OR

(b)  What is the price of one pen ? 2

(iii) What is the total amount to be paid by Suryansh, if he purchases
6 notebooks and 3 pens ? 1

14-430/4/2 Page 21 P.T.O.
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Th0T 3ETIT - 3

38. TIIA BE : WA e Th YHR I o¥ HILAH 7 FI Tih, v AT 3T
wfaufaat & faw w@ & fow w8 Faweh @ 301 T a1 § | WY B8
U T AR g GETierd Bld &, St %e ohl giEufa ofefed od 2 3R %e
o TeeTenl o ToTT ST & A1 3T 3099 hid 1 TIE i & |

1—¢L‘5‘13'| T
FE |

3¢ INEART ged (NAV) foreft %e & ufd IR s g o1 fdffaca s
2 | I8 98 $imd g e w e freht o ol @ we 9w wilied g o 3=
ferelt wg Ut 1 s=d 2 |

frfaRad drfetept ICICI W31 Bl o FFAA B8 i T e g THReqrd
T (NAV) 1 i 2

NAV (T ¥ ) 0-5|5-10|10-15|15-20 | 20 — 25
RIg3Td %l hl Tedr | 13 | 16 22 18 11

3T AN o YR R, FHHfilad Je1 o IW T
(i)  AlehSi o sgeish a1 hl FH HHT 1 § ?
(i) 3Tl I HTEAH o AT @ ?
(i) (a) YIS HEI HI TgaTh NAV R B ?
T
(b) YIS HEl T HIeAHh NAV FI1 & ?
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Case Study -3

38. Mutual Fund : A mutual fund is a type of investment vehicle that pools
money from multiple investors to invest in securities like stocks, bonds or
other securities. Mutual funds are operated by professional money
managers, who allocate the fund’s assets and attempt to produce capital
gains or income for the fund’s investors.

Net Asset Value (NAV) represents a fund’s per share market value. It is
the price at which the investors buy fund shares from a fund company
and sell them to a fund company.

The following table shows the Net Asset Value (NAV) per unit of mutual

fund of ICICI mutual funds :

NAV (in %)

0-5

5-10

10-15

15 - 20

20-25

Number of mutual funds

13

16

22

18

11

Based on the above information, answer the following questions :

) What is the upper limit of modal class of the data ?

(11) What is the median class of the data ?
(111) (a) What is the mode NAV of mutual funds ?

OR

(b) What is the median NAV of mutual funds ?
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